DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: November 18,, 2024 @2:30 pm
AGENT NAME: Judi Moore

	BID TABOLATION							
	Α	В	С	D	E	F	G	Н
1				Ferguson Waterworks		Delta Municipal Supply Company		
2	Item No.	Item Description	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
3	1	Copper tubing, soft rolled, type "K", ¾-inch, (minimum order will be 5400 feet).	150,000	LF	\$5.64	\$846,000.00	\$4.99	\$748,500.00
4	2	Copper tubing, soft rolled, type "K", 1-inch, (minimum order will be 5400 feet).	100,000	LF	\$7.49	\$749,000.00	\$6.62	\$662,000.00
5	3	Copper tubing, soft rolled, Type "K", 1 ½-inches in 60- foot rolls, (O.D. = 1.625-inches). Must be packaged as double pancake rolls as manufactured by Cambridge Brass #-312350.	100,000	LF	\$11.93	\$1,193,000.00	\$10.54	\$1,054,000.00
6	4	Nut, Piggy Back, ¾-inch X 1-inch, NO LEAD, to be supplied as either, Ford #C02-43 or AY McDonald #74755, (ONLY).	3,500	EA	\$21.75	\$76,125.00	\$19.01	\$66,535.00
7	5	Nut, Piggy Back, 1-inch X 1 ¼-inches, NO LEAD, to be supplied as either, Ford #C02-54 or AY McDonald #74755, (ONLY).	3,000	EA	\$38.88	\$116,640.00	\$34.85	\$104,550.00
8	6	Union, 3-part Straight ¾-inch, Flare Copper (both ends), NO LEAD, to be supplied as either, AY McDonald #74758, Mueller #H215425, or Ford #C22-33, (ONLY).	3,800	EA	\$18.35	\$69,730.00	\$16.06	\$61,028.00
9	7	Union, 3-part Straight 1-inch Flare Copper (Both Ends), NO LEAD, to be supplied as either, AY McDonald #74758, Mueller #H215400, or Ford #C22-44, (ONLY).	3,000	EA	\$32.11	\$96,330.00	\$28.33	\$84,990.00
10	8	Adapter, %-inch Flare Copper X %-inch M.I.P, NO LEAD, to be supplied as either, AY McDonald #74753, Mueller #H-15425, or Ford #C-28-33, (ONLY).	12,000	EA	\$14.52	\$174,240.00	\$13.20	\$158,400.00
11	9	Adapter, 1-inch Flare Copper X 1-inch M.I.P., NO LEAD, to be supplied as either, AY McDonald #74753, Ford #C28-44, or Mueller #H-15425, (ONLY).	3,000	EA	\$20.73	\$62,190.00	\$18.35	\$55,050.00

ITB No. 24-101637

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: November 18,, 2024 @2:30 pm
AGENT NAME: Judi Moore

Name: Copper Tubing Fittings

	11 0 0								
	Α	В	С	D	Е	F	G	Н	
1			Ferguson Waterworks		Delta Municipal Supply Company				
2	Item No.	Item Description	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price	
12		Adapter, ¾-inch Flare Copper X ¾-inch F.I.P., NO LEAD, to be supplied as either, AY McDonald #74754, Mueller #H-15450, Ford #C21-33, (ONLY).	3,000	EA	\$14.33	\$42,990.00	\$12.47	\$37,410.00	
13	11	Adapter, 1-inch Flare Copper X 1-inch F.I.P., NO LEAD, to be supplied as either, AY McDonald #74754, Ford #C21-44, or Mueller #H-15450, (ONLY).	1,500	EA	\$21.91	\$32,865.00	\$18.95	\$28,425.00	
14		Coupling, Quarter Bend, ¾-inch Flare Copper X ¾- inch Swivel Nut with Female Copper Flare Thread, NO LEAD, to be supplied as either, AY McDonald #74776S, Mueller #H®15069, or Ford #L02-33S,(ONLY)	12,000	EA	\$28.81	\$345,720.00	\$25.46	\$305,520.00	
15	13	Coupling, Quarter Bend, 1-inch Flare Copper X 1-inch Swivel Nut with Female Copper Flare Thread, NO LEAD, to be supplied as either, AY McDonald #74776S, Mueller #H215069, or Ford #L02-44S, (ONLY)	1,000	EA	\$40.67	\$40,670.00	\$36.27	\$36,270.00	
16		Coupling, Compression, 1½ -inch Copper Tube Size X 1½ -inch Copper Tube Size, NO LEAD, to be supplied as either AY McDonald #74758T; or acceptable equal.	2,500	EA	\$76.09	\$190,225.00	\$67.12	\$167,800.00	
17		Curb Stop, Ball Valve with Lock Wing, ¾-inch Flare Copper Inlet, ¾-inch F.I.P. Outlet, NO LEAD, to be supplied as either, AY McDonald #76102W, Mueller #H- 15166 or Ford B21-333W, (FULL PORT ONLY)	12,000	EA	\$68.53	\$822,360.00	\$57.82	\$693,840.00	
18	16	Curb Stop, Ball Valve with Lock-Wing, 1-inch Flare Copper Inlet X 1-inch Ball X linch F.I.P. Outlet, NO LEAD, to be supplied as either, AY McDonald #76102W, Mueller #H-15166 or Ford #B21-444W (FULL PORT ONLY).	2,500	EA	\$95.82	\$239,550.00	\$84.81	\$212,025.00	

ITB No. 24-101637
Name: Copper Tubing Fittings

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: November 18,, 2024 @2:30 pm

AGENT NAME: Judi Moore

Α В C F G Н **Ferguson Waterworks Delta Municipal Supply Company** 1 Estimated Unit of Item Item Description Number of Unit Price **Total Price** Unit Price Total Price No. Measure Units 2 Corporation Stop, Ball Valve, ¾-inch, Flare Copper Outlet X ¾inch Ball X ¾-inch CC Thread Inlet, NO LEAD, to be supplied as 17 6,000 EΑ \$51.10 \$306,600.00 \$42.58 \$255,480.00 either, AY McDonald #74701B, Mueller #H215000, or Ford #FB-19 600-3, (ONLY) Corporation Stop, Ball Valve, 1-inch, Flare Copper Outlet x 1inch Ball x 1-inch CC Thread Inlet, NO LEAD, to be supplied as 18 2,500 EΑ \$65.60 \$164,000.00 \$54.36 \$135,900.00 either, AY McDonald #74701B, Mueller #H215000, or Ford #FB-20 600-4, (ONLY). Adapter, CTS Comp X MIP ¾-inch with Beveled Gripper, NO LEAD, to be supplied as either McDonald #74753T, or 19 8,000 EΑ \$16.32 \$130,560.00 \$14.35 \$114,800.00 acceptable equal. 21 Adapter, CTS Comp X MIP 1-inch with Beveled Gripper, NO LEAD, to be supplied as, AY McDonald 74753T, or acceptable 4,000 EΑ \$19.33 \$77,320.00 \$16.54 \$66,160.00 egual. 22 "Y" Branch Connection, One Branch 1-inch Flare Copper Outlet X %-inches Flare Copper Inlets, NO LEAD, to be supplied as EΑ \$52.95 3,500 \$185,325.00 \$46.42 \$162,470.00 either, AY McDonald #708YSCC, Mueller #H-15340, or Ford # Y22-243, (ONLY) 23 "Y" Branch Connection, One Branch 1-inch Flare Copper Outlet X ¾-inches Flare Copper Inlets, NO LEAD, to be supplied as \$52,560.00 3,000 EΑ \$17.17 \$51,510.00 \$17.52 either, AY McDonald #708YSCC, Mueller #H-15340, or Ford # Y22-243, (ONLY) 24 "Y" Branch Connection, One Branch 1-inch Flare Copper Outlet X %-inches Flare Copper Inlets, NO LEAD, to be supplied as \$39.61 2,800 EΑ \$110,908.00 \$33.37 \$93,436,00 either, AY McDonald #708YSCC, Mueller 25 #H-15340, or Ford # Y22-243, (ONLY) TOTAL \$6,123,858.00 \$5,357,149.00 26

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: November 18,, 2024 @2:30 pm

AGENT NAME: Judi Moore

Name: Copper Tubing Fittings

	Α	В	C	D	E	F	G	Н
1			Ferguson Waterworks		Delta Municipal Supply Company			
2	Item No.	Item Description	Estimated Number of Units	Unit of Measure	Unit Price	Total Price	Unit Price	Total Price
	Notes: For Item Nos. 1 & 2, minimum order will be 5,400 LF. Bidder indicate available length(s)				60 ft.= Yes		60 ft.= Yes	
27	below:			100 ft. = Yes		100 ft. = Yes		
28					3			
29	Non-responsive Bids:							
30	LSBE Participation:				GFE		GFE	
31	Attendance at the Mandatory LSBE Meeting (Yes or No):			Yes		Yes		
32	Separate Sealed Price Schedule (Yes/No):			Yes		Yes		
33	Notes:							
34								
_	Values entered in red indicate a miscalculation correction. Where discrepancies exist, the unit price is considered to be correct.							
36								

Witness Signature:		